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olth, 18 8.4(b)RHE ZF Ao Agl=AHY V,, V,, V.= 277} 23112079 ¢
ARE ZE7] W7ol zF A2 7k A7 AL Vi, Ve, Vi = A2 A o]t} =31

2
A7k A 271 AT VB Rk S5 Az Al S PR 30°

Vie=V.,—V,=V,+(=V,)= V3V, 230°[V]
Vie=V,—V,=V,+(=V,)=+3V,230°[V]

Vl(’u = V(,’_ V(L = VC + (_ V(L) = \/g V(’,A 300 [V] ...... (8-4)
otk Wb, 4] 8. 31 8 4RFH FHAFE I, AAFE I, FAY= V,, At A
& voleta shd

Il — IP[A] ...... (8_5)

V,=V3Vv,z30°vI e (8.6)
ol AFRt V= AEel T4 1] AR v, T ZomEE 4] 8,62

V,=V3V,,£30°[V] e (8.7)

Okl 8.1 EY 34 WRTA0| YAM Al M7 FY0| V, = 346[VIY M, 4TY V [VI=?

§) scomvE Ty Ve
1
Vp = W V,£ —30°[V]
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MzH Fefo| V,=346[V] 0|22 ATe) V,

rr

1
V,= 7 X346 £ —30° = 200 £ —30°[V]
(2) o &AM

e AZAR Aot 19 8.5(a) 2R E 7t 4]
ARGV, V. V&7 AR 140 A AL Vi, Vi, Vi, 2 5L817] 20

olt}.

a9 8.5(b)REE 7 Aol E=2= A7 1, I, I+ 371723 120°Y A=
207] 2ol 4 A=ol B2 ARF Ly, Ly, I, = A2 oo B3, A5
A7) ARREG V3 UF 23 AR YA AR 307 =87 wie
I,=I1,—1,=1I,+(—1)=+/31I,7—30°[A]
I,=1,—1,=1I,+(—1,)=+/31,/—30°A]
I,=I—1,=1I+(—1I)=+/3I2-30°[A] (8.9)

ojth, whetbAl, 4 8,83 8 9= AAFE I, AAFE I, Y= V. Az Ak
= Volgkal shd

oft

vi=v, vl e (8.10)
I,=+3I,2-30°[A) e (8.11)
o]t
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I,=I,[A]

V,=V3V,230°[V]
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25t of Mol s2E AT =
V, 503
P J
—_r_ —q
L=—=—2 =103 [A]
[h2hA, T3 3M B5l0M2 95 M2t P, 25 M2 P 2 mjA XM P=

PZSIPQRISX(10\/§)2><3=2,700[V\/]:2.7[kvv]
P, =312X=3x(10+/3)* x4 =3,600[Var]= 3.6[kVar]
=3727=3%(10V/3)? ¥ 5 =4,500[VA]=4.5[kVA]
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T3 34 2ol0|Me] GIE p.fof PES /s
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r.f=sinf =

Y 33 2= HY 332 vlste] Y& A o] o]F7] wjZel, o]
ethod of symmetrical coordinate)S AF&&lo] BHE Aot

A A 23R (m
F AR EH%V‘j—J 3dHoz X oHo]—(ﬂ Qi—- OH/H'(S]— A 9\)]\[-4_

a9 8.18(a)9] V,, V,, V.= E3Y 34 Aoz, BEEE 34k AYS Hallstd
19 8.18(b)QF 7o) Aol abedl AAE(V,,, Vi, V.)T 19 8.18(c)e} o] AF<=o|

=
achQl GAE(V ,,, Vi, V)@ 18 8.18(d)9} 7o) A+e] whgkal F7)71 72 AR

(Vaov VbO’ Vc())‘(—)‘i ?_E‘GE‘L ‘/'I,\_ O]]:]_.

Vi=Va2 /120°

Ve=Var /120° V=V, /A120°
aVa 20 o= Var 120 Veo=Var /~120°

() (b) © o)
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T 8.18()ERE BHY 34 AL FAE, GYE D YR Folnw
Vo=Vt V,+ V(,Q[V]
V=Vt VitV [V]

a

V.=V,+V,+VyIVl e (8.49)

ola 1 8.18(b)BHE 7+ 4o AR F V2 V, I Hlaske] 7= AN 91430

120° %31 V 1% o Hlaste] A7]= ZAE 9] 120° Witk E3F, 117 8.18(c)

25 7o) SR 3 v,k V.9 vlaste] 27]E A 9i4ke] 120° WET Vv,
= Vst l wate] 37 ZAE $4o] 120° gt

AZIM, VTt Vg 7S8R Vi, V2t Vo, V3o 9dE vlasies, f14o]
WEE AV 121200, QIAko] =8l AFElE 12 —120°8 UERE 4= 917 iRl 4] 8 49

d
d

V, =Vt Va+ VeVl
V=Vt V, £—120°+ V2 120°[V]
V.=Vt V, 21200+ V 2 —120°[V] e (8.50)
oJtt,
o714, a=12,120° 2}al 3P o® = (1£120°)(1£120°)=12£240°= 14 —120° °]iL
FAE V=V, =V, °lEZ 4] 850
=Vt Vat+ VeVl
V,=V,+dV,+aV,[V]
V.,=Vy+taVa+dVyIVl e (8.51)
ojtt,
B V0 E k7] SlsiAl Al 8,519 3719 A& tishd

V,+V,+V, =3V, ,+0+d+a)V, +1+a+ta®)V,[V]

o]aL o] 7] A
a?+a+1=02—-120°)+(12120°)+1
= {cos(—120°)+ jsin(—120°)}+ (cos120°+ jsin120°) + 1
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V=3V AV VOV e (8.54)
ot
ARV, & o7 falA 4 8.512) F A Aol aZ FAL A WA Aol oS
3 %, 37le) A Heiw

Va—l—aV,)—f—anc = (1+a+a2)Va0+ (1—|—2a3)Va1
+ 14+ +a)V,[V] e (8.55)
o|al of7] A,

ad =axaxa=(12120°)x(12120°)x(12120°)
=14360°=120°=1 e (8.56)
a4 :a3><a=a """ (8.57)

o|H= 4] 855+
V,+aV,+d’V.,=1+a+d")V,+3V,

+1+d+a)V, [Vl e (8.58)

7F =l AR Vs

V= %(Va +aV,+a*V,)[V] e (8.59)

V,+d®V,+aV,=(0+d*+a)V,,+(1+a" +d*)V,
+(1+2d*)V, [V]

=(1+ad*+a)V,+U+a+a®)V,, +3V,, - (8.60)
7h Eol QAR Ve
Vo=3V, 4@ Vtav)lvl e (8.61)

oltt.



